T;Eiu;léiﬁo 1115 255 4 R B84 M4 |~ oo
111‘&'95]35—}1‘&,'1_*5? ERPIE s SRGI I g ]
N REA

o %

¢
i)
Ry
3
>~
il
ole
),
-\-1,\,_
W

3 e
/_il—

] Frrrgaf
v LIPS IR o L
THRFEF L1304 JEE

MLE T OF R ?I:—* tEE
e 2 éfﬁﬁ% AR B R RBOTAR AL L AL IR 0 23 A o
@ P f%F’“ 230 8 w5\ ek ,),’}é-x*é AT FIEE o
—-%ﬂ%?ﬁ@ﬁﬂﬁﬁkﬁﬁﬁmmeéé&?LH%“W?#%WWLé
= ppm @& * o5ER L P ppm & mg/L v 3 A 2 A F G E e i L] Y
(10 » )
OFEZF ST % ppmv § (FE o Fmp L E e ke (84)
G2 @RAE ARG OERT P a"q.ﬂ« Pehs g ibpke B g i 400

A

ppmv . FR AELERSHZFH- 7F 5 FRs F 2 (T4)
S~ AeR B ERA R PP R 2 UK 0V %R R 4 » $7A5 2 PbS
PbS()=Pb?* + S* Ksp =3.0 x 1028

FHE O~ HS 7 12 %*ﬁ Pb* ek i3 i ¥ st(aq) ‘Ao iR 01M o
dvor i BERER 1 REREA R dE pH=352 ) ¥ A E T AR R

HoS + H,0 = H30' + HS Ki=9.6 x 108

HS + H,0 = H3;0* + S* Ko=1.3 x 1014
O T GEpE [P [H] ~ Ko~ Ko 2 B endie B 550 - (154 )
cwwgzwwf/m&miém gEpE s ke [PhP]= 2 M (10 A4)

= ~ # AgsPOys (Ksp=2.8x1018) &4 23t pH=6.0 % 73 7% - (H3PO4 =
B phfaap ¥ Bt Ki=7.11x1073, K2=6.32x1078, K3=4.5%101%)
O3t % PO g ? “13 ERERP A @ (TERERELF) o
OC(PO43) [PO43']/([PO43]+[HPO4 J+[H2PO4T+[H3PO4)= ? (8 & )
O34 3 91 AgsPOs 73 2R (* S 47 ) 8 Ksp (74 2R 15 (PO
Lﬁi? B ta38 2 S=92 (12 Ksp &2 a(POs>) % 7+ 2 B 258 ) (10 4 )
G K R kR [Ag]= 2 (T4)



B - 14750
o=k 1 2-2

- /ﬁJ{%/pznifﬁwlOmL e 50mL ~ 0.02M 3 KyCrO7-ki% % @ »
;__ﬁ’xl“} T U A 4‘3'@; oo o© ,;rr-lf_z—]ﬁ:gz,ﬁ;if fu ﬁ'ﬁfa‘ﬁ& » KoCr,04 gé_,_

(—)éﬁ—% o Fn Ty P RRE R (84)

() e %a KoCroO7 & B R & 4 7 i iFph = IR P WA R
g”ﬁ FlaAE K CrO7 % & BlE_ > £ A L4~ 20 mL mF82+ (0.125 M)
B EEme 22 BR o RN HBIOT G CRRF o (T4)

@B Flen Fe®v UL * R ﬂ\ﬁoﬁ*mOOZMchrzowpni’ ¥R BF %R

LL‘H‘.ﬁ,ﬁ 7.5 mL K,Cr,O7 = é/ﬁ? T_HEL o },"?!j‘/f’]ﬁ:/p zli”l‘ir’rm/}%

BRES SR A (Wiv) % ? (1OA>)

}



